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=lal*+2a b+ |b|*+ |al*—2a * b+ |b|?°=2(|a|*+ |b|)=%

M2 X LA B SR - AT IR TE 8 4830 S 7 F 6K B A 5 F B X A1 2R 9 O R

7. A E&%UEHN .

(LDHEZRFMWBARARER:; QZARRN=&ABXT—A.

iE (DWNE 5-3im,ABRE O WER,C BEE L HE— Ay
,‘599\%%%% * @ZQ C(x,Y)
B EL B AR R A, W E TR R
22+ =R*, AC=(z+R)i+yj,CB=(R—z)i—yj ,,>\
T ACR.0 0] 7 B(R

AC - CB=(x4+R,y) * (R—xz,—y)=R*—z2*—3*=R:*—R’=0

#HAC | CB,Bp A2 Fixt B FE f h LA

(2)tn@ 5-4 fiR,AD | BC,BE | AC. #% AD 5 BE H%
FFEEZ4BRETF A ABIEFCLAB. Hx b, B
WwERME, A

FC=ci—dj, AB=bi—aj
B HBF | AC,#BF + AC=(—b,d) *» (c,—a)=—bc—ad=
0, AT
FC « AB=(c,—d) * (b,—a) =bc+ad=0.

#FC | AB. XBEM T A SARLTTF &

9. IEA=Z/ "B EHTERGEL T BT ERR B 5-4
HATWANHBHRELS.

iE (Do

REBEcRNE a,.b WERMAEG c=Aa+ub, W ¢ & Aa, pxb J 483 0 F17 W3 TE B 5T £
R, =R ILE, N a,b,c FLTH.

B(b,0)

(DHWEH. A c

B a,byc 3L, M 5-5CX AR %k — ), i ¢ &K C
SIS a,b EITER D F B,%a F A,BHOAS a 2,08 ,
5 b 3R AR S A, 8148

OA=Xa, OB=yb
iii c=OA+OB=2a+b. Bl ¢ £ a,b LML E. A 5-5
A S R R B AR T IR A RN R KIE.
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2. RGRTFHFMERFEER.
(2)idm 3,0, —DH5¥H 3z—7y+52—12=0 ¥47.
DO HEA,LDAEO, 1L, -DES¥H «+y+2=0 HEH.
GIFHA,1,D,(—2,—2,2)F1(1,—1,2).
(&) x—2y+2:+21=0 5¥H 72+ 242 —5=0 Z 6 T M 1 ¥4 .
S8 KRPEFERHXBERTEAERE, FIHLELRZ.
B QORIWEITFEAEEERE, UK PEEEBATRY n={3,-7,5). #
REXBFIRFEFEY
3(z—3)—7(y—0)+5(z+1)=0
3x—7y+52—4=0
(WEMFEHEAERNE n=>0,1,0,3IHEHEK RN
s=(1—0,1—1,1+1)=(1,0,2)
B, RN ERE n e Hals,Brod B

i j k
n=mXs=|1 1 1|={2,—1,—1)}
1 0 2
HAEXGIRFER T RN
2(z—0)—(y—D—(z+1)=0
22— y—=z=0

GHIEBHM=EHKIKA AB.C, 1
AB={—3,—3,3},AC={0,—2,3)
HHFREE BN REE n | AB,n | AC,H AT B

ik
n=ABXAC=|—3 —3 3|={—3,9,6}
0 —2 3

FRIRKFEMTER
—3(z—1D)+9(y—1)+6(z+1)=0
Hp © xr—3y—2z=0
OB _HAWESEEERE—E N (ay:2) B _HANFHE R P HAESHSE, T
B HABrEMEREAK. B
|z—2y+2z+21| |72+242—5]
VTR (=2 F 2 JTFo+2f

) 5 (z—2y+2e+21) =+ = Tz + 242—5)
FrsRE4HE N 22—25y—112+270=0 & 46x—50y+1222+510=0.
4. RMFEIT¥E Ar+By+Cz+D,=0 5 Az+By+Cz+D,=0 Z Al (W EE 5.
& i n:Ax+By+Cz+D,=0G=1,2),8}
m:Ax+By+Cz=—D,; m:Axz+By+Cz+D,=0
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